v) ¥-125
2 2
VI) 3 (ij , or [3 8}
125 125
b) iii) 4 iv) 8000
L 4
v) -5 vi) 2%
3.a) 4

b) 9% ,or 9%
c) 18% , or 18°%
d) 10g,or 10%*
&) (-10):

4. Approximately 53 s

e () % ()

5
1
6. 3/421875 mm, 421875 mm, 75 mm
81
7.a) — b) 4
) 16 )
1
c) — d) 2
) 100 )
e) 100 f) 625
8. $4589.06

4.6 Applying the Exponent Laws, page 241

3.a) X b) %

a

c) b’ d) 1
m
4.a) 05° b) 0.5*
c) 05* d) 0.5°
5. a) X b) %

X

c)n d) i4

a
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10.

11.

12.
13.

14.

15.

.a) n’ b) 1

C
3 12 3 -12
@ [E) ") (EJ
[_ﬁ
5

c) n* d) =

c) (ﬁJ d)

5

a’ n®

A b) —
d® 4p?
c) — d —
) c® ) 25¢2
e) a’b? f) nm?

1 X

= A

g) C12d8 ) y3

. @) Xx; product of powers law

b) a~>; product of powers law
c) b* product of powers law
d) 1; product of powers law

1 .
e) —; quotient of powers law
X

f) s'% quotient of powers law

9) b—ls ; quotient of powers law

h) 1; quotient of powers law

9
a) 2.25 b) —
) ) 6
c) 0.36 d) 1
5 3
e) — f) —
) 3 ) 8
1000 3
= h)y —
9) 343 ) 10
a4
a) x%y® b) —
) Xy ) 0
1 d) 16m°n*?
64m®n° 81
10.6 cm
251 ft.2
a° d*
a) — b) —
) b ) 2
1
a) -32 b) —=
) ) 5
o L o L
32 1024




